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After — school help will be on WEDNESDAYS until 4:30 pm, unless it is
Early Dismissal. Then it will be on a THURSDAY for just that week.

Module 7 « Form A

QUIZ REVIEW
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3) Jorge bought 6 large balloons for a party. 1o S L} ‘
This was 25% of all the balloons he
P Q_S bought. How many total balloons did Jorge
——— = —— buy? SHOW WORK or explain how you
W got your answer.
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QUIZ NEXT CLASS !!

Module 7 « Form A
QUIZ REVIEW

8) Kendra earns $70 per week
mowing lawns. She saves 60% of the
money she earns each week. How many
weeks will it take Kendra to save enough
money to buy a game system that costs
$2107?

SHOW WORK or explain how you got
your answer.
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SHOW WORK or explain how you

got your answer for #9 and 10.

There are 500 people at the school
carnival.
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If 200 of the people are students, what
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If 30% of all the people at the carnival are
on a ride, how many people are on a ride?
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